
Tuesday 

1. 

 

2. There are 246 children on a bus.  215 of them are girls.  How may are boys.  Use a place value grid and 

Base 10 or counters to help you work out the answer.   

 * ** *** 
3. 77-9= 232-19= 978-559= 

4. 83-8= 395-73= 874-759= 

5. 65-7= 276-47= 858-539= 

6. 35-9= 397-29= 846-129= 

7. 48-9= 298-67= 665-339= 

8. 76-8= 495-52= 872-555= 

9.  82-8= 376-38= 994-278= 

 

10.  An airplane flies at 767 km per hour and a high speed train runs ate 349 km per hour.  How 

many more km per hour does the airplane fly than the high speed train runs? 


